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P-2 : Poste d'interconnexion
P-3 : Poste élévateur
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P-5 : Poste de distribution
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Exercice 1:

En utilisant le théoréme de Kennelly,
calculer le courant I du circuit suivant © 4

V=100V

Avec, R=3Q

Exercice 2 :

Soit un circuit RL série alimenté par une tension v(f) = V\/a Cos(a)t) , V=100 V et /=50Hz, avec: Z=6+ 78 Q,

i
Vp T R
1. Exprimer i() sous la forme : i(?) = I\/E.Cos(a).t - (p)
2. Calculer L et le facteur de puissance FP. . I g
5 L

3. Calculer P, Q et S.

12
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a) Calculer Z et 1.

b) Calculer P, Q, S et FP.
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University Echahid hamma lakhdar Eloued, Algeria.
Faculty of Technology
Solution of Exam 2021 (GP and GE)
Mathematics 3

Solution 1 (4P) Integration by substitution (Change of variable), by putting t = sinx we have
0<t<1 anddt=cos(z)dx
So,

NIE

cos zdx dt

I = /0 (sinx—l—l)(Sinx‘f‘Q):/O (t+1)(t+2)
_/1 dt _/1 dt —lé
") GrD) Sy v U
x = rcos(f)

Solution 2 (4P) We use Cylindrical Coordinates by choosingq z = rsin(6)
Y=y

D={1<r<20<60<2m0<y<b}
dxdydz = rdfdrdy

///ycos 22 4 2?) dxdydz_jb’fz%mos ) dfdrdy = (Ofbydy) (fde) (frcos( )dr>

010

we have { Thus

7 (sin4 —sin 1)

2
(n + 1)n+1
4.6... 2.4.6...(2 1 1

Solution 3 (4P) (1) lim i — fpy 246-CWC0+D) 6..2n)(n+1) (n+
n—-+oo Uy, n—+o0 n n—+to0 2.4.6... (2n) (2 (n + 1)) n

2.4.6... (2n)

1 . 1\" e
= —nl_lgloo (1 + ﬁ) =5 > 1. Consequently y_ u, :DV

Solution 4 (4P) 1)

2 2 -2|

2) (a)]—//xdmdy—/ / xd:pdy—/[l Z]Mdy— /(4 y?) dy = %[4y—§y3]2_2:§.

: —rcos(ﬁ) D {0<7’<2‘“<8§%}
(b) by choosmg{ y = rsin(0) we have { dudy — rdfdr
2 13 3 2 16
we found //:dedy = f/ r? cos (0) dOdr = </ cos (6) d@) (f 7"2(17“) =3
s 0Jr = 0
. : ; : 1 :
Solution 5 4P) We have from Riemann’s series : Z 7 gar1 8

CV; ifa*—3a+1>1<a(a—3)>0& a€]—00,0[U]3, 00|
V:if a?-3a+1<1lsala—3)<0&acl0,

Consequently,
and

1
'&fOlE[O,?)] then E ﬁZS DV
no—3a

3 mars 2021 Dr Hocine Gabsi Email: hocinegabsi@gmail.com
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Université d’El oued Faculté de technologie 2¢me gnnée génie électrique
Module : Electronique fondamentale 01 Durée 1h :00

Examen de controle

R: A
Exercice 1 (6pts) T |
Soit le circuit ci-contre
Déterminer le circuit équivalent de Thévenin vu par la charge I D R Ry
entre A et B. On donne I=3A E=120V, R,=40Q, R,=20Q, R;=120Q .
R E
V, 1S . —
....... o A 2 e

Exercice 2 (6pts)
Calculer le courant Ic et la tension Vcg dans le montage suivant
On donne Vce=15V, Vee=0.7V, Rc=1KQ, Rr=100Q, Rs =2OOKQ B= 100

..............................................................................................................................................

.......................................................................................................................................................

..................................................................................................................................................................
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Exercice 03 (8pts)

On considére le quadripéle de la figure ci-contre
attaqué par un générateur de f.é.m eget de
résistance interne Rg. e,
Déterminer :

Vs

1. I'impédance d'entrée.
2. le gain en tension.
3. le gain en courant. = ' ) ') o] & 1\ - "y
I (AL ) Ly Y
4/ 26=!§—— Vg:"e\ul—g*<|zc- [ZI' > L(j
3

5 6 R o &H k?E”PLB(/]td)___ ¥
41 44 W A S

2l AV = Vs (o tlPe ) Rx8 )T g oo B
Ne Wy
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6) J £/ AV . \!_S; n CQL L / Y




University Echahid hamma lakhdar Eloued, Algeria.
Faculty of Technology
Solution of Exam 2021 (GP and GE)
Mathematics 3

Solution 1 (4P) Integration by substitution (Change of variable), by putting t = sinx we have
0<t<1 anddt=cos(z)dx
So,

NIE

cos zdx dt

I = /0 (sinx—l—l)(Sinx‘f‘Q):/O (t+1)(t+2)
_/1 dt _/1 dt —lé
") GrD) Sy v U
x = rcos(f)

Solution 2 (4P) We use Cylindrical Coordinates by choosingq z = rsin(6)
Y=y

D={1<r<20<60<2m0<y<b}
dxdydz = rdfdrdy

///ycos 22 4 2?) dxdydz_jb’fz%mos ) dfdrdy = (Ofbydy) (fde) (frcos( )dr>

010

we have { Thus

7 (sin4 —sin 1)

2
(n + 1)n+1
4.6... 2.4.6...(2 1 1

Solution 3 (4P) (1) lim i — fpy 246-CWC0+D) 6..2n)(n+1) (n+
n—-+oo Uy, n—+o0 n n—+to0 2.4.6... (2n) (2 (n + 1)) n

2.4.6... (2n)

1 . 1\" e
= —nl_lgloo (1 + ﬁ) =5 > 1. Consequently y_ u, :DV

Solution 4 (4P) 1)

2 2 -2|

2) (a)]—//xdmdy—/ / xd:pdy—/[l Z]Mdy— /(4 y?) dy = %[4y—§y3]2_2:§.

: —rcos(ﬁ) D {0<7’<2‘“<8§%}
(b) by choosmg{ y = rsin(0) we have { dudy — rdfdr
2 13 3 2 16
we found //:dedy = f/ r? cos (0) dOdr = </ cos (6) d@) (f 7"2(17“) =3
s 0Jr = 0
. : ; : 1 :
Solution 5 4P) We have from Riemann’s series : Z 7 gar1 8

CV; ifa*—3a+1>1<a(a—3)>0& a€]—00,0[U]3, 00|
V:if a?-3a+1<1lsala—3)<0&acl0,

Consequently,
and

1
'&fOlE[O,?)] then E ﬁZS DV
no—3a

3 mars 2021 Dr Hocine Gabsi Email: hocinegabsi@gmail.com
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Hama Lakhdar University year : 2020/2021

Module : Technical English level: 2 GE

Full Name : ...ccceviiiiiiniiiiniiiieiiiniennnn. Specialty : ....ccoceviiiiniiiiiiniininn Giovrvrriiiiiiiae
First term English exam

Read the text carefully then answer the do the activities below :

Information can take a variety of forms. When you speak to a friend, your thoughts are translated by
your brain into motor commands that cause various vocal tract components the jaw, the tongue, the lips to
move in a coordinated fashion. Information arises in your thoughts and is represented by speech, which must
have a well defined, broadly known structure so that someone else can understand what you say.

Information can take the form of a text file you type into your word processor. You might send the
file via e-mail to a friend, who reads and understands it. From an information theoretic viewpoint, all of
these scenarios are equivalent, although the forms of the information representation sound waves, plastic
and computer files are very different.

Engineers, who don't care about information content, categorize information into two different
forms: analog and digital. Analog information is continuous valued; examples are audio and video. Digital

information is discrete valued; examples are text (like what you are reading now) and DNA sequences.

Questions :

1- Give a general idea for the text ?

Equivalent =.................................... equivalent =...............................
Discrete=................cooiiiiiiiii categorize=...............ccceiiiiiiiiiiie e,
Variety= .........oooiiiiiiii CommMANAS=...........ccooiiiiiiiiiiiiiiiiennans



Remember, no gain without pain

your teacher Siham lifa



Hama Lakhdar University year : 2020/2021

Module : Technical English level: 2 GE
The correction first term English exam

Read the text carefully then answer the do the activities below :

Information can take a variety of forms. When you speak to a friend, your thoughts are translated by
your brain into motor commands that cause various vocal tract components the jaw, the tongue, the lips to
move in a coordinated fashion. Information arises in your thoughts and is represented by speech, which must
have a well defined, broadly known structure so that someone else can understand what you say.

Information can take the form of a text file you type into your word processor. You might send the
file via e-mail to a friend, who reads and understands it. From an information theoretic viewpoint, all of
these scenarios are equivalent, although the forms of the information representation sound waves, plastic
and computer files are very different.

Engineers, who don't care about information content, categorize information into two different
forms: analog and digital. Analog information is continuous valued; examples are audio and video. Digital

information is discrete valued; examples are text (like what you are reading now) and DNA sequences.

Questions :

1- Give a general idea for the text ?
Electrical engineering and types of information

2- Give a synonym to the underlined words in the text .

Equivalent = equal equivalent = disciplines
Discrete = separate categorize= classified
Themes = topics blossomed = flourished

3- Extract out from the text 2 adjectives :

1- Electrical 2- Equivalent

2- What are the different types of information ?
a-analog

b-digital



3 Translate the 2™ paragraph into Arabic language :
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Remember, no gain without pain

your teacher Siham lifa



